SH2EE BEAERIULER

- KAV 16-H#E=6 2fi=5 3fi=4 4f1=3 B8=2 B16=1 (BrHL4-EEN <2+t
JIE iz K4 FE| FRA B = [ Point|va7#i Point| #E# Point_E
1|E# i 2 |(#EZ 1 6 2 5 1 6 17
2| H ERiE 2 |EBZF 2 5 8 2 2 5 12
3= H 2 |BEZF 8 2 1 6 4 3 11
3| T HETE 1 e 4 1 3| 3 i 4| 34 11
5|0 A 2 |iERtt 8 2 4 3 8 2 7
6|EF T ZEM 1 [#ZEZ 4 3| 16 i 1 8 2 6
NNKFKERF | 2 |EZEF 8 2 | 16 i 1 8 2 5
8|HhE RE 2 |BEER 16§ 1 8 2 | 16 i 1 4
8|EEM 1 [#EZE 16 i 1 8 2 | 16 i 1 4
1o0l/hE #E 1 |#EZ 16 i1 [ 16i 1| 16 1 3
10|5E FF 1 [#EFE 16 i 1 8 2 3
12|FEE METE 2 |RKZE 8 i 2 2
12018 H MY 2 [J\BTW 16 i 1 16 @ 1 2
12| B2 2 |iER#t 16 i 1 16 i 1 2
15|15 HhE| 2 |ERE 16 i 1 1
15|32 B 2 [ERtt 16 | 1 1
I5|RTESIDME | 2 [#BEF 16 i 1 1
15| R&N KE| 1 |BBFT 16 1 1
15|1F# L BE 1 |#EEF 16 i 1 1
15|FH #E 1 |EfEHR 16 i 1 1




